OUTCOMES ELEMENTARY VIDEO WORKSHEET

05 SHOPS

WATCH

A Watch the video. Choose the correct word to complete each sentence.

He buys one / two / four / six long loaves of bread.

One long loaf of bread costs 60 cents / 70 cents / one euro twenty / one euro thirty.
He buys cheese / things with cheese / things with meat / things with sugar.

He buys one / two / four / six sweet things.

He spends €1.20 /€1.50 / €4.20 / €6.20.
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B Compare your ideas with a partner.

C Look at the video script. What are the missing words?

D Watch again and check your answers.

PRACTISE PRONUNCIATION

A Practise the conversation in pairs.

B Which words or phrases are difficult for you? Tell a partner.

C Watch again and listen to the words / phrases that are difficult to say.
Ask your teacher to stop the video.
Repeat the word(s) / phrases.

D In pairs, practise reading the dialogue again.

KARAOKE

Watch the karaoke version and look at the video script. Act out the karaoke
lines in italics.
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OUTCOMES ELEMENTARY VIDEO WORKSHEET

VIDEO SCRIPT

Julia Who's next?

Alexander Me.*! are those?

Julia Which ones?

Alexander The?

Julia 70 cents or two for €1.20.

Alexander OK.? have one? Wait.
No, two.

Julia Two? Sure.

Alexander And what are those? What are they
4 ?

Julia These?

Alexander Yes.

Julia Those have cheese and these have, um, | don’t know the name in English.

But it has sugar, you know, it is sweet.
Alexander OK. Can | have the sweet ones?

Julia Yes. > ?
Alexander Hmm, two. No, four. Er, no, two.
Julia Two? Are ° ?
Alexander OK, four.
Julia oK?’ ?
Alexander Er, ... no. No thanks, that’s all. How much is

8 ?
Julia That is €7.20.
Alexander €7.20? How much are those

9 ?
Julia €1.50 each.

Alexander Oh. Er, can | have two, not four? | don’t have
10

Julia Right. €4.20.
Alexander Thank you.
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